T0 T0

)

=]

=A

1

[

AlZF: 100

1)

©

T o
=

A 1A (A

SZYSI|A7I=At

tAl2. (Z103d)

©°

o] 2%

7171224 71EAt Al

=9
S

3

714

(L

=Mt A 99

IH o

J|J

o2 ots[ (ASHRAE)

LH LY
O - O

2. 0=

StA| 2.,

Hod &

o

Ct. CH30fl tf

I
JJ

—
I[e)

jn

oll

HOd

2) CHCI2F 2t CCI2FCCIF2 o] dHojtH s

Al 2.

110
go
ol

SHAl=.

<

A
=

SHA|2..
tof 2

(<}

_i

12H oA 22870] of

StA| 2.,

3o
X

_|

HOd

S

stofl cf

Il



30 o

)

=
e

=A

1

[

AlZF: 100

|

o

0 o]
S+ =

H 1AL (A

ZASI|A7 1At

Mo

7171224 71EAt Al

=9
o

3

714

=il Al 99

IH o

SA|2.

Go
B

F0] &

Yol this

9. Aol =4

J|d

—r—
e}

Ho

=
=

ey

8t It

oHof| CH

=

ShA[=2.

Y

_l

A
=

HO]

o

ap THHOf o

AtA
O

SZ0[0f OE 242 5719 2=
o

k=)

1)

Ol A EHFE 2

ot0q,

o

=
=)

|

-

| 20
o

o

3

Z
A

b

4

2z
13. A o A



A=A

7171224 71EAt Al

X0 BO
1
o
o
~
<
70
2
= ol _E_
o (7
2 [
T <
a3 A_.___
N
=X
™~N
o
%0
N
Ho
or
N{0
™)
A
= =
Xl N
~3
L ——
~|[IH ©

tAl=. (225 3)

°

o] 2%

SHAl<.

Go
X

A

Ch Stod

=23

A 2) ANA-HEE 3) AIL-RQ] 7oy

.
2t

2} Wt

1) AL

2| 0f| L A| A~ H

4. =

dH7=

St oz 2&7|s 2) SBIAIES AES oA

o

°

StA| 2.

o
xn

Hod &

(¢}

| GRS A ZHol| T

=

T Q3

~O

o

20| A|LI2[A| =Tt

F

ol

1) E=S

o =717t Al

°
FAUBICE

=
S

A
ad,

20

3

(]
=]

2

o
3 Alo|&0f 227}

mr

4) 32



A=A

7171224 71EAt Al

X0 O
1
o
o
~
<
70
2
= ol _E_
o (7
3 [
T <
a3 A_.___
N
=X
™~N
o
%0
N
Ho
or
N{0
™)
A
= =
N
=
2L ——
~|[IH ©

tAl=. (225 3)

°

o] 2%

SHA| 2.

go
XN

.|

CH ot

i

t

[

2) SAA 122

HA|)

=
=

|2F SI T

| 2o
S =

= 7|50

StAI2. (T, AFEE]

o
X

.|

CHotod

<r
0

ol

2) 2304 A2t 2I=[0|HA| S

SO 7+E7])et

Aoy EL2{(Hot oil heater :

3.

SHAl=.

&o

o HotAI2,

=cf 0|4 240 tfs

A 2 oA Al

A2 2ot

al

4.

ol

160

<k

—
1[e}

50
m0

<+

160

<+

ol
r
30

™
o)

of

o

[N
o

oo

oj
3



A=A

7171224 71EAt Al

X0 BO
1
o
o
~
<
0
2
= ol _E_
o (7
4 [
Tl <
a3 A_.___
N
=X
™~N
o
%0
N
Ho
or
N{0
™)
A
= =
Xl N
~3
L ——
~|[IH ©

tAl=. (225 3)

°

o] 2%

oj

JJ
o
70

—t

|

o

ofn
iy

~

A2

A —
235

(3 71A1)

2t

OH

Io

&7 287101 Af

A2

StA| 2.,

ujru

mo

o0

<

2

AO|Z8| p-h =& d2[il EFSHAI=.

[0 2EsHA| 2.

(<}

7l=otal A Ch2401| Cf



7171224 7l2At Ald=A|



